197 FORTRE R R
FFETERD AR
Bl A 4 Ak TRIPER: 2017/11/1-2017/11/30
HEH = § i § (NOp)ppb = § 72 (S0)ppb B (PI-10) pg/n’ 03 B (PM-2.5) pg/m’| B |
ST R T TR Bul Dl TG TR sl T LT ol DR T D RO o O I
& LD | Bk | Be] ] e |TIOE | B X bl ) B | T B ] Al |TI00 B E|TI0E | b4 E | B | TI0E [T
01 13.5 |21.8 | 3.9 0 |41 |59 |34 0 [37.9 |67.6 | 0 | 266 |679 | 17.8 | 44.0 0 1.2 #
02 10.6 |20.0 | 4.2 0 [4.0 |49 |34 0 [41.7 |93.5 | 0 | 268 | 485 | 18.1 | 56.0 0 2.2 *
03 5.9 |12.8 | 1.5 0 [34 |38 |31 0 [30.7 |45.7 | 0 | 414 | 621 |11.9 | 17.0 0 4.5  |rei
04 2.2 |50 |0.5 0 [31 |35 |29 0 [26.3 |35.7 | 0 |547 | 712 |11.8 | 22.0 0 5.9 |rak
05 6.7 120.9 | 0.8 0 [33 |45 |26 0 [24.3 |42.7 | 0 | 369 | 558 |10.1 | 23.0 0 2.4 |rak
06 14.9 |28.7 | 6.0 0 |45 | 7.8 |35 0 [45.1 |61.5 | 0 | 231 | 584 |20.5 | 32.0 0 1.1 #
07 10.4 |16.1 | 5.2 0 |59 |12.9 |36 0 [72.8 |127.7| 0 | 275 |558 |35.4 | 87.0 0 1.6 7
08 6.9 |13.7 | 3.0 0 [37 |42 |33 0 |[3L.7 |53.2 | 0 |3L3 | 433 |10.3 | 30.0 0 3.4 |ran
09 1.2 |21.4 | 5.2 0 [4.2 |49 |36 0 [4L.7 |64.5 | 0 |353 | 752 |18.7 | 34.0 0 2.0 |mat
10 13.4 |30.8 | 4.7 0 [49 |99 |38 0 [65.1 |119.9 | 0 | 262 |528 |30.8 | 57.0 0 1.6 #
11 9.0 |15.6 | 4.2 0 |42 |62 |36 0 [47.1 |69.4 | 0 | 351 |535 |22.3 | 39.0 0 2.8 |mat
12 8.3 |13.4 | 4.9 0 [41 |49 |35 0 [29.4 |40.8 | 0 | 248 | 385 |11.0 | 22.0 0 2.3 |rat
13 11.8 |19.9 | 6.6 0 |42 |47 |36 0 |[37.4 |53.7 | 0 | 166 | 322 |14.7 | 26.0 0 2.1 |rak
14 12.6 |17.8 | 6.2 0 |46 |52 | 4.0 0 [40.7 |54.7 | 0 | 172 | 443 |16.5 | 30.0 0 2.2 |rak
15 12.2 |22.9 | 5.5 0 [4.6 |52 |4.2 0 (345 |62.3 | 0 | 265 |626 | 13.9 | 39.0 0 2.2 |rak
16 13.7 [19.0 | 8.6 0 |53 |88 | 4.0 0 [43.3 |59.6 | 0 | 282 | 673 |20.4 | 32.0 0 1.4 *
17 16.0 |33.1 | 6.1 0 |68 |12.0 | 4.5 0 [101.7 |167.8 | 0 | 328 | 747 |55.1 | 100.0 0 0.9 |&#
18 7.5 |16.1 | 1.4 0 |52 |10.4 |35 0 [39.8 |89.6 | 0 | 296 | 449 | 19.8 | 62.0 0 3.9 A
19 5.9 |15.5 | 0.1 0 [38 |50 |31 0 [25.7 |66.4 | 0 | 277 | 394 | 11.4 | 48.0 0 3.0 ek
20 9.2 |13.7 | 6.1 0 [39 |45 |33 0 [24.0 |38.8 | 0 |230 | 412 | 9.6 | 18.0 0 3.0 |rak
21 9.5 |13.3 | 6.3 0 |44 |54 |38 0 [26.9 |51.8 | 0 | 297 | 469 | 9.0 | 27.0 0 2.2 *
22 6.6 | 9.7 |12 0 [4.0 |46 |38 0 [25.9 |45.9 | 0 | 269 | 575 | 8.0 | 20.0 0 3.9 et
23 7.0 110 | 4.1 0 [4.3 |50 |38 0 [30.7 |52.7 | 0 | 230 |420 | 158 | 37.0 0 4.8  |ren
24 7.5 |14.5 | 1.9 0 [35 |45 |28 0 [23.8 |44.2 | 0 | 261 | 421 |10.6 | 26.0 0 3T ek
25 8.2 |13.4 | 5.1 0 |28 |38 |23 0 [23.8 |43.5 | 0 | 286 | 433 |10.0 | 21.0 0 2.9 |rat
26 51 189 | 1.9 0 |27 |31 |24 0 [28.6 (349 | 0 |3L4 | 472 |11.0 | 19.0 0 3.0 |rak
27 8.9 |20.4 | 2.8 0 [34 | 7.9 |25 0 [30.1 |52.5 | 0 | 290 | 490 |11.9 | 24.0 0 2.5 et
28 14.9 |23.2 | 4.2 0 [50 |86 |34 0 [63.3 8.6 | 0 |221 |530 |35 | 50.0 0 1.4 *
29 9.5 |16.7 | 2.4 0 [40 |87 |26 0 [106.7 |149.5 | 0 | 327 | 639 | 583 | 83.0 0 1.6 |54
30 5.2 |87 | 1.8 0 [30 |39 |25 0 (331 |65.2 | 0 |292 |363 |12.1 | 37.0 0 3.5 |rak
31 - -] — ] — | — | — | — | — | -] - | — - - — | -
T s | 9.5 4.2 41.1 29.0 18. 6 2.6 | —
B+ | 16.0 6.8 106. 7 54.7 58.3 5.9 |rak
#Frpy | 17 17 29 4 29 4 63%
AR 2 = e 0 0 0 0
PHEEE | NA 100 125 NA 35
i 250 250 120




